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Testime rada nagu vaja * 09.01.2025 19:56 (1)
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Hole-by-hole statistics

| [12/34 /51678 9 w0nj1z]1]2]3]4]5/6]7 8]0 10112 ]Tot S
Par 3/3(3/3/3|3/3|3/3/|3/3|3/3|3/3|3/3|3/3|3|3|3/|3)|3]|72

Avg

Difficulty

Birdie -1

Par 0

Bogey 1
Double Bogey 2
Triple Bogey 3
Other >3

34/34(31/35/29/33/3.6|3.3|34| 3

17 | 18
12
11| 9
3 4
1 2
1

7
4
7
6

19

1
9
5
2

w o u w

14
3
10

3133(32/31|3.1|35

2411516 |5 |6 |13|12| 9 |10 |20
6 1|4 3|2 3|4 5]|2
11110101111 8 |10 7 | 8
4 ' 9|5 2|32 |5|1|4) 4
1 1 1 1 1 1 2 1 2
1 1

1

Testime rada nagu vaja * 09.01.2025 19:56 (2)
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